MISE – Chemistry 511

Please submit this lab report to the digital drop box by 6:00 PM on Sunday, October 22, 2006.  Make sure the file name starts with your name and indicates that the file is the copper sulfur lab report.  Make sure to put your name on the lab report.

Name: Bill Wagenborg                 October 15, 2006 
Lab Report – Chemical Formula of a Copper-Sulfur compound

Results and calculations: (Note – table can be expanded to accommodate your data and calculations.)
	Mass of crucible (constant weight)


	11.0416 g

	Mass of crucible + copper wire


	11.5399 g

	Mass of Cu reacted


	.4983 g

	Mass of crucible + copper sulfur compound after heating


	11.6675 g

	Mass of copper sulfur compound


	.6259 g

	Mass of sulfur in compound


	.1276 g

	Calculation of empirical formula of copper sulfur compound. (show all work)

* For some reason my subscripts are not showing up in black. I am going to make notes next to the work so you can understand it.
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(Subscripts are Cu on top and S on the bottom)


	Empirical formula of copper sulfur compound
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      (Subscript for Cu is 2)


Pre and post lab questions:
1. How do you know when all of the sulfur added (to the fixed amount of Cu) has reacted?

We think that all of the sulfur has been reacted when we do not see the blue flame seeping out of the top of the crucible when we heat the compound. We then weigh it (crucible and compound) and record our results. We then make sure that all of the sulfur has been reacted by heating it again and weighing it again. If the difference in measurements is less than .00200 g  then we believe that all the sulfur has been reacted.

2.  a. How do you minimize the possible reaction of the Copper with oxygen (O2) from the air to limit the amount of CuO that could be produced as a by-product?

b. Write a balanced chemical reaction for the production of CuO.

We limit the amount of oxygen that could react with the copper by placing the lid on the crucible during the reaction and after until it has cooled to room temperature. We needed to keep the lid off slightly in order to avoid the lid from sealing from the excess sulfur vapor and to also to monitor the flame coming from the heated sulfur.
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3.  Why is it important to mass the Cu on an analytical balance but use a triple beam (lower precision) balance to mass the sulfur?

Copper is the fixed amount. It is the part of the compound that will remain constant. We need this to be more precise because it is the determining factor of how much sulfur was reacted. This is because we subtract the mass of the compound after the reaction with the mass of the copper reacted to find the mass of the sulfur reacted. The amount of sulfur can be less exact because the excess amount(what is not reacted) will burn off anyway. 
4.  Why is this reaction performed under a hood?

This reaction is performed under a hood because sulfur is a volatile element. This means it is capable of boiling and releasing vapors at a low temperature. We do not want to take any chances of any sulfur vapors flying out of the crucible and onto other places (like ourselves).
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